H & 0l & AHS B Ml A

SN sl
HE: o) &IHe
SRl AZESORE ML (cre): xg)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
=e)|2t 3,615,088 3,287,725 327,308
2 512,066 508,125 8,941
2 16,000 0 16,000
| 1,618 1,618 0
= 433,982 460,950 16,968
2 2,642,367 2,322,082 30,3%
B ESIET 3,553,463 3,230,581 322,882
2 512,066 508,125 8,941
2 15,000 0 15,000
| 1,618 1,618 0
= 433,982 450,950 £16,968
2 2,580,797 2,264,868 315,909
ARSI M 250,373 290,373 40,000
= 55,032 72,000 A16,968
2 195,341 218,373 223,000
EEE e 60,000 100,000 240,000
= 13,082 30,000 16,968
2 46,963 70,000 223,08
301 LBHRHS 60,000 100,000 40,000
= 13,082 30,000 16,968
2 46,9683 70,000 223,082
14 JIEF2 413 60,000 00,000 40,000
o, L, B £3F MY X
AT 6,00020+7, 240 43,440 00,000 56,560
= 1,082 30,000 £16,968
2 30,408 70,000 739,502
oW, ¥, B B3 XY XA (2WIFIH)
6,00021+2, 760 16,560 0 16,560
FESYUpTES=E 1,105,656 847,774 257,882
2 206,276 162,335 23,941
= 75,500 75,500 0
2 823,830 589,939 233,941
SHE YolE LML A 388,552 340,670 47,882
2 194,276 170,335 23,941
2 194,276 170,335 23,041
40 SI2FXF2 0 & 47,882 0 47,882
2 23,941 0 23,941
2 23,941 0 23,941
03 B2 RISIARH] 47,882 0 47,882
ol ST BHE LRI
47,882,002 47,882 0 47,882
2 23,941 0 23,941
2 23,941 0 23,941
HAS HBYD IDISQAAY T8 A 210,000 0 210,000
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SRl
HE: S|S0l

el = MIIEES (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
402 QI2F X201 & 210,000 0 210,000
01 QIZEXHE2 AL 2 (REHITH ) 210,000 0 210,000
o220 TDIRRAIAY =4
300,000, 0002 *19H 2 %70% 210,000 0 210,000
USE SEXNS oHF dut 255,752 150,752 105,000
= 0 15,000 /15,000
= 15,000 0 15,000
[ia 240,752 135,752 105,000
HAl &2 020 AEdA N Jle28 A 30,000 30,000 0
= 0 15,000 /15,000
z 15,000 0 15,000
s 15,000 15,000 0
402 QI”F X201 & 30,000 30,000 0
= 0 15,000 A15,000
[ 15,000 0 15,000
T 15,000 15,000 0
02 QIINEAISEE X (0IETHE) 30,000 30,000 0
oMl 8t 20| AEHA M2 Jl=Es
Al & 6,000,000 #5IH A 30,000 30,000 0
= 0 15,000 A15,000
[ 15,000 0 15,000
ia 15,000 15,000 0
AAS HE 6XHAY JIgEE AlY 105,000 0 105,000
402 QI2E X201 & 105,000 0 105,000
01 QIZEXHZ AL 2 (REHITH ) 105,000 0 105,000
o6t &t Jlgh =4 XA
150,000, 0002 141 %7(f% 105,000 0 105,000
Hees(sgii=) 4,426 0 4,426
PPN 4,426 0 4,426
L=PSDNES 4,426 0 4,426
802 grat=DIE 4,426 0 4,426
02 Al - SHIEXSBHE = 4,426 0 4,426
o4 22| & S35 AHUFE A o
Xl =4 AL (OIRFELE) 13,830& 14 0 14
o204 B MAHIEY SEJls 2EAE A
& (0IRHZZEY) 11,9002 12 0 12
o24E MEHE NEFY NSIEEA Al
AL (Ol RHELEL) 1,340 2 0 2
o202438 Mg T28 MLl 2-3 il 723t
AHER =4 A (0IXHEE)
30,9002 31 0 31
o20243 Il ol HS Eoll &Ml XA
459,520 460 0 460
o204 B Holls YN 28 2AFXel
K& At 163,090 154 0 154
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SN SIS
HE: HRES (SIS
=9 =84S (EH9): ®2)
SA - B - G9I(30) - NIRAY - BES Ofl b ol & o SimE==t
oA Klolse! 2 PN St &
SEARI(OIRHEEY) 19,6102 20 0 20
SoPAE AIAS OILTIRE A2 TWHEK S
S(0IXHE ) 3,732,9602 3,733 0 3,733
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